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Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.

 giiarel orgr U To HIT-YH YT HIIT @
Candidates must write their Roll Number on the question paper.

* FUF qeI B GOV a7 @ @ IF GEARTT FW 7 [F qeea g 7 @@ 2 e @
T 5 T F g f @rar @i 787 A @
Before answering the question, ensure that you have been supplied the

correct and complete question paper, no claim in this regard, will be

entertained after examination.

A FEsT :
General Instructions :
(i) &H T orfaard &
All questions are compu[;;ry.
(ii) FegiTe o7 & qat [Awe g
Write the correct option in objective type questions.
(iti) §F TTT arT T T HRFE [EAFET FT AT 2l
Internal choice has been provided in long answer type questions.

(iv) F% 97 & oFF TGP AT 99 17 B
Marks of each question are indicated against it.

g - A
SECTION - A [ Marks : 20
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(+Mfcre farsTT)
(Physics)
1. 9= Afag o faftm 0 9t geam &= & gt & o 9= g v F afg S B
? 1
(A) HifcEmsg
(B) Il
(C) (A) T (B)
(D) &% § g &t

A person who is unable to recognize different colours suffers from :
(A) Cataract
(B) Colour blindness
(C) Both (A) & (B)
(D) None of these
2. gdieg au gaid & 999, g4 & WA T BN H RO e B Hia-ar i
1 &1 gt BT B 7 1
(A) @ T (B) e 3
(C) (A) T (B) A (D) ¥ A Fg T
At the time of sunrise or sunset, the cause of reddening of Sun is due
to the scattering of which rays of light ?
(A) Red rays (B) Blue rays
(C) Both (A) & (B) (D) None of these
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3. fepelt a1y & T WA =eh A Sy fAsi wwr B o4
(A) TTeRb P TSE TX
(B) TUD IR FT & HIGA T
(C) e & " WX
(D) SUdiEd @S 9T
The resistance of a uniform metallic conductor depends on :
(A) Length of conductor
(B) Area of cross-section
(C) Nature of material
(D) All of the above
4, FRIi Qe H FE A MR | .......... 1 SAfeepisT AF B F THOG qHT @
o1 # oRakia 8 SEr 8 1
(A) et S
(B) Refee st
(C)  (A) T (B) &l
(D) T & FE T
When a plate is dropped from a height, at the time it hit the ground,
the maximum part of its ........ is converted into sound energy.
(A) Kinetic energy
(B) Potential energy
(C) Both (A) & (B)
(D) None of these
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5. U1 St a4 Bt 8 7 it aoie Pt 2

What is wave energy ? Explain in brief.
6. Rl 6 Q% gfg® 125 J FT 91 FF7 I B @ 2 gew B R
U fgEioy F B 2

A 6 Q resistance emits heat energy at the rate of 125 J/s. Find the

potential difference across the resistor.

7. SUH GEETT H S F QAW SR & RS fawa H o svasg g B
FH IIEM (Reduce), g @7 (Recycle) A g: SUEMT (Reuse). “g IqarT”
& gu faw @ H
You must have come across the three 'R's to save the environment :
Reduce, Recycle and Reuse. Explain Reuse in detail

8. (a) |  awar F= Ar 7 7 P AW @ T SECT (1D) &9 @ gftenfya
I o

What is the power of a Lens ? Define one Dioptre (1D) power of a

lens.

(b) i a¥G AT AT B FHA DR (o) W Rew B 9@ wg F ol @ b,
IS T U B I@eT F EN SEE 2
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An object is placed at the centre of curvature (¢) of a concave

mirror. Draw the ray diagram to depict the position, size and the

nature of image formed.
9. TH FEd [ET 9N (a.c.) WA F i, @@ awn Ay @ fowy avie
HitTT| 6
Explain in detail, the principle, construction and working of an
alternating current (a.c.) generator.
HAYEr
OR
(a) TPel B8 Yo P AR AN GIHE & WA B ARG BT
2

Draw the magnetic lines of force around a bar magnet.

(b) uR=TeE A o Fr ohEE-® ? & aRiee § sErfed fogm aw &
PO IO YT A F AR BTG GRARCER B ST 9T AT G
gl 4

What is a Solenoid ? Draw the magnetic field around a current

carrying solenoid. Also mention the use of a solenoid.

g - §
SECTION - B [Marks : 19
(vemae fRsm)

(Chemistry)
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10. 2AgBr(s) LR A
HUT @ T AffEar @ gugeT A ® 1
(A) afeET #

(B) 977-930 BiCEmH |
(C) @ B qHA FA A
(D) HeARYT F TF B fow

Sunlight

2AgBr(s) 2Ag(s) + Bry(g)

the above reaction is used in :
(A) Welding

(B) Black & white photography
(C) White washing walls

(D) To prevent corrosion

11. S & @ Holar 5 3eM & fow g ataw A T @ aa 2 2 1
(A) NaHCO4 (B) NaOH
(C) Na,SO, (D) Na,CO3.10H,0

Which sodium compound is used for removal of permanent hardness of

water ?
(A) NaHCOg4 (B) NaOH
(C) Na,S0, (D) Na,CO03;.10H,0
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13.

14.

15.
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e o @ bW o § a9 S § qun gl e § 9 goeeE 2 7

(A) TfeEeE (Si) (B) TgHIET (Al)
(C) H=ifms (Mg) (D) WEFT (Na)

Which of the following element has a total of three shells with four

electron in its valence shell ?
(A) Silicon (Si) (B) Aluminium (Al)
(C) Magnesium (Mg) (D) Sodium (Na)

TS e B B B BT Ghe B (AT H gad AT 8, af foadd & O J@ sea
W B 7 eEe foe TemEte e st S 2

Why does the colour of copper sulphate solution change when an iron

nail is dipped in it ? Give chemical equation for it.

iR AR Fr ® ? @ SaeIr iy 2

What is neutralization reaction ? Give one example.

Frfafea ol & @ oigelt a SUEIgal H T - 2
Hifsa™ (Na), Rafas (S), ST (Ge), REF (L)
Identify the metals and metalloids in the following elements :

Sodium (Na), Silicon (Sij, Germanium (Ge), Lithium (Li).
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16. () o= @ ofRenfya @ifm - 2

Define the following :
(a) @f=
Mineral
(b)
Gangue
(ii) T sAfifseT & fog wEe g b o 2

Write the chemical equation for the following reactions :
(a) STERT # 99 B WA
Iron with steam
(b) FfcoEH & Fd S T
Calcium with water
17. () S~ & G fofeg & e @t Rl i 2
Write the formula of benzene and draw its structure.
(i) @SR AR Jg e H X WL HioQ 2
Differentiate between Hard water and Soft water.

(i) weHlE B8 I Hi faga e o # 7 2
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How and why ethanol is denaturated ?

HAYar

OR

() e Q@ IEH AMH P IWENT ARHTR FEERT F FoH & w9 F F; (o

SEr 8 ? 3

Why are carbon and its compound used as fuels for most

applications ?
(i) USHfEH o HI A QHIeH o & FBd § 7 2

Why is Ethanoic acid named as Glacial Acetic acid ?

(iii) TRTeERT THAETS @9 G 4 7 1

What is Vinegar chemically ?

s -9
SECTION -C [ Marks : 21
(e fem)

(Life Science)
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18. fo=feifag & @ BFad CFCs @1 Suam fFar sar 8 7 1

(A) hleitex #

(B) SAR\I™A #

(C) (A) 3T (B) amt &

(D) & & ®IiE @&

In which of the following CFCs is used ?
(A) Refrigerator

(B) Fire extinguisher

(C) Both (A) & (B)

(D) None of these

19. for=fafaa & @ B9 a@F SR TIOIFEMT 9 2T 8 7 1

(A) darg (B) sie

(C) gt (D) & @it

Cross pollination is achieved by which of the following agents ?
(A) Wind (B) Water

(C) Animals (D) All of these
20. fr=fafen & 9 f=- 3 2 o damgn dWt wfaa @t 2 7 1
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21.

22.

23.

24.

25.

26.
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(A)  &ag (B) 9UEg

(C) st (D) ST

Which of the following gland secrete both hormones and enzymes ?
(A) Thyroid (B) Parathyroid

(C) Adrenal (D) Pancreas

frerfem & w1 719 § ? 1

What are the functions of Gibberellin ?

........... WA GE q AR Al T R & g B gRe JeW i 8l 1

............ layer shields the surface of earth from ultraviolet radiation

from the sun.

HAE 4 A B 7 2

Why does menstruation occur ?

BEST | A W AU HieT 2

Describe budding in Hydra.

SERass & F1 FE B ? 2

What are the functions of forebrain ?

Yoo & 9GP @ 4 qa =an {6 fafe @ e w0 @ dogm Q¥ 7 4
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How do Mendel's experiments show that traits are inherited

independently ?

27. (a) AMG =T T B AMIRT & TR 3

Draw a well labelled diagram of human digestive system.

(b) @& @ e fRAT @ v ik 3

Describe the process of digestion of fat.

HAYEr

OR

arsdieds T B 7 98 R S Ak B 7 g o i 8 7
6

What is transpiration ? How does it take place ? What is its role ?
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